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(A HEA_1F)F28] 669,000 %13]= 669,000
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AR 12=) 7] Aok e
3.5 7) ek A ek 587 0 sa7| (8 HALF) 71T R AR 587,000 587,000
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2. 58w 88,643 76,610 12,033
1L.ESuALY 76,070 76,070 0
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(BHA_1F)F 24+ 1,260,0009%13]= 1,260,000
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LEASEEY 22,036 22,036 0
15474 13,270 13,270 0
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15799 13,000 10,000 3,000
1991 2,000 2,000 0

2. WS- 11,000 8,000 3,000 |-E=-H] (KCC-=) : 3,000,000 +13]= 3,000,000
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4.71F A9 A K SF 5,000 0 5,000
1.3t &8 5,000 0 5,000
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(A FA_1F) O glo] | a5 A ]
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3.938H 4 94 4,700 4,700 0
1. 05990 4,700 4,700 0
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1. Q9uk=gn) 1,380 1,380 0
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3. o] 20,400 20,400 0
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3. N 320 320 0
1. g RkE8H 160 160 0
PRRETEARIRE R ) 160 160 0
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1A 432 432 0
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1.3 A ] 6% 220,591| 201,952 18,639
1. 33T ZAAT A= 93,060 93,060 0
1. g RkE8-H| 2,280 2,280 0
2. 77123 37,200 37,200 0
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